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8. Discuss the following m detal @

{a) Signal Space Dunensionality

{b)

L-8612

Frequency Hopped Spread Spectrum.
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Note : Attempt Five questions in all, selecting at least
one question from each Unit. All questions carry
equal marks.
Unit |
I. (a) What is Sampling Process ? How is this
process implemented in communication
svstems 7 8
(b) How will you achieve pulse amplitude
modulation ? Explain with the help of proper
circmt dragram, 12
2. (a) What is quantization noise ? How will you
minimize it 7 Discuss. .8
(b) Explain thc working of Differential
Pulse Code Modulation. What are its
limitations ? How will vou overcome
those 7 12
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Unit I1

Why 15 Intersymbol interference

generated 7 Explain giving mathematical

analysis.

8

Derive the mathematical expression for

probability of errer of the matched filter. 12

Discuss the sigmficance of eye patierns.

Descnibe the following :

(1) Adaptive Equalization 8
(i) LMS Algorithm. 12
Unit 111

What is Gram-Schmidt Procedure ? How is
this used to construct orthonormal set of

functions ? Nlustrate. 10

Discuss the detection of known signal is

noise. 10

Show a typical power spectra of a binary

PSK signal and explain it 8
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(b}

(a)

{b)
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The vaiues of Eb/No required to realize an
average probability of symbol emor Pe =
10 using coherént binary PSK and coherent
FSK systems are equal to 7.2 and 13.3 |
respectively., Using the approximation :

P 1 ’
erfe{u) = —=—exp(-—y°)
VT
determine the separation in the values of
Eb/No for Pe = 107 using coherent binary
PSK and DPSK. 12

Unit IV

A PN sequence is gen«rated using a feedback
shift register of length m = 4. The chip rate
is 107 chips/second Find the following
parameters : 12
(1) PN sequence Izngth

(i) Chip duration of the PN sequence
(i} PN sequence period. _
A direct sequence spread binary phase shift
keying uses a feedback shift register of length
19 for the generation of PN sequence.
Determine the processing gain. 3
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